

Day 32 Math 131

#1 a) $\sum_{n=0}^{\infty} (2/3)^n = \frac{a}{1-r} = \frac{1}{1-2/3} = \boxed{3}$ or $\sum_{n=0}^{\infty} (2/3)^n = 1 + 2/3 + (2/3)^2 + \dots = a=1, r=2/3, |r| < 1$

b) $\sum_{n=0}^{\infty} 4(-2/5)^n = 4 + 4(-2/5) + 4(-2/5)^2 + \dots = a=4, r=-2/5, |r| < 1$
 $\sum_{n=0}^{\infty} 4(-2/5)^n = \frac{a}{1-r} = \frac{4}{1-2/5} = \frac{4}{3/5} = \boxed{20/3}$

c) $\sum_{n=0}^{\infty} 6(5/4)^n = 6 + 6(5/4) + 6(5/4)^2 + \dots = a=6, r=5/4, |r| > 1$ Series **Diverges**

#2 a) $\sum_{k=0}^{\infty} (4/3)^{-k} = 1 + 3/4 + (3/4)^2 + \dots = a=1, r=3/4; \sum_{k=0}^{\infty} (4/3)^{-k} = \frac{1}{1-3/4} = \boxed{4}$

b) $\sum_{n=0}^{\infty} 3(2/5)^{2n} = 3 + 3(2/5)^2 + 3(2/5)^4 + \dots = a=3, r=(2/5)^2, |r| < 1$
 $\sum_{n=0}^{\infty} 3(2/5)^{2n} = \frac{a}{1-r} = \frac{3}{1-4/25} = \frac{75}{21} = \boxed{\frac{25}{7}}$

c) $\sum_{k=1}^{\infty} 4(1/3)^k = 4 \cdot 1/3 + 4 \cdot (1/3)^2 + 4 \cdot (1/3)^3 + \dots = a=4/3, r=1/3$
 $\sum_{k=1}^{\infty} 4(1/3)^k = \frac{a}{1-r} = \frac{4/3}{1-1/3} = \boxed{2}$

d) $\sum_{k=2}^{\infty} 3(-1/2)^k = 3 \cdot (-1/2)^2 + 3 \cdot (-1/2)^3 + 3 \cdot (-1/2)^4 + \dots = a=3/4, r=-1/2, |r| < 1$
 $\sum_{k=2}^{\infty} 3(-1/2)^k = \frac{a}{1-r} = \frac{3/4}{1+1/2} = \boxed{\frac{1}{2}}$

#3 $8 + 6 + \frac{9}{2} + \frac{27}{8} + \dots = a=8, r=3/4, |r| < 1$
 $\sum_{k=0}^{\infty} 8(3/4)^k = \frac{8}{1-3/4} = \boxed{32}$

#4 $\sum_{k=0}^{\infty} (\frac{2}{k+2} - \frac{2}{k+3})$
 $S_n = (\frac{2}{2} - \frac{2}{3}) + (\frac{2}{3} - \frac{2}{4}) + (\frac{2}{4} - \frac{2}{5}) + (\frac{2}{5} - \frac{2}{6}) + (\frac{2}{6} - \frac{2}{7}) + (\frac{2}{7} - \frac{2}{8}) + (\frac{2}{8} - \frac{2}{9}) + \dots + (\frac{2}{n+2} - \frac{2}{n+3})$
 $S_n = \frac{2}{2} - \frac{2}{n+3}$
 $\lim_{n \rightarrow \infty} S_n = \lim_{n \rightarrow \infty} (\frac{2}{2} - \frac{2}{n+3}) = 1 - 0 = \boxed{1}$

#5 $\sum_{k=0}^{\infty} \ln(\frac{k+2}{k+1}) = \sum_{k=0}^{\infty} \ln(k+2) - \ln(k+1)$

$S_n = \ln(2) - \ln(1) + \ln(3) - \ln(2) + \ln(4) - \ln(3) + \dots + \ln(n) - \ln(n-1) + \ln(n+1) - \ln(n) + \ln(n+2) - \ln(n+1)$

$S_n = \ln(n+2) - \ln(1) = \ln(n+2)$
 $\lim_{n \rightarrow \infty} S_n = \lim_{n \rightarrow \infty} \ln(n+2) = \infty$

So $\sum_{k=0}^{\infty} \ln(\frac{k+2}{k+1}) = \infty$ (Diverges)

#6 $\sum_{k=1}^{\infty} \arctan(kn) - \arctan(k)$;

$$S_n = \arctan(2) - \arctan(1) \\ + \arctan(3) - \arctan(2) \\ + \arctan(4) - \arctan(3) \\ \vdots \\ + \arctan(n-1) - \arctan(n-2) \\ + \arctan(n) - \arctan(n-1) \\ + \arctan(n+1) - \arctan(n)$$

$$S_n = \arctan(n+1) - \arctan(1)$$

$$\lim_{n \rightarrow \infty} S_n = \lim_{n \rightarrow \infty} \arctan(n+1) - \arctan(1)$$

$$= \frac{\pi}{2} - \frac{\pi}{4} = \boxed{\frac{\pi}{4}}$$

#7 p628

#10 $\sum_{k=1}^{\infty} \frac{k}{k^2+1}$; n^{th} term test $\lim_{n \rightarrow \infty} \frac{n}{n^2+1} = \lim_{n \rightarrow \infty} \frac{\frac{1}{n}}{1+\frac{1}{n^2}} = \frac{0}{1} = 0$

The test is inconclusive

#12 $\sum_{k=1}^{\infty} \frac{k^2}{2^k}$; n^{th} term test $\lim_{n \rightarrow \infty} \frac{n^2}{2^n} = \lim_{x \rightarrow \infty} \frac{x^2}{2^x} \stackrel{L'H}{=} \lim_{x \rightarrow \infty} \frac{2x}{\ln 2 \cdot 2^x} \rightarrow \infty$
 $= \lim_{x \rightarrow \infty} \frac{2}{(\ln 2)^2 \cdot 2^x} = 0$

Test is inconclusive

#14 $\sum_{k=1}^{\infty} \frac{k^3}{k^3+1}$; n^{th} term test: $\lim_{n \rightarrow \infty} \frac{n^3}{n^3+1} = \lim_{n \rightarrow \infty} \frac{1}{1+\frac{1}{n^3}} = 1 \neq 0$

The series Diverges